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1. WO Farea fde it sawert s, weth fifre s et dw gee
IR T FRt TRIEm @5 TndwiET) o Feien Fiveem W g e o SR,
Ty e st Sfre—arE gEe W SRS S w8t SR F9en
FTAT-— ATV FRA 1 AT Y] STHRTATT THHN]R T I8 FHRON FL0ATH { AEASAISHS ST )
3TN eaTTe)), e v forra, favarersd @ et 7w gfesm s, W
(W wedia) Frde fafemm s Ferte g €8 @ s (famms TE) s e
(fifeams) feraa.

R we e wd Feed sfeas s v g faum e

(1) o suaearen § 9 9 SR STE STUE! TET SR 9T § $R ST AT SREES
I .

(2) HIER TR YT A SHREHET WAR % T4 SR A @] i gUreen
A

(3) Fafvadten svEN: fagm SOeen ST SfEs e gxt SaEE R ¥ A A

4) R AW oA dmfiermer faem swdiar o smaw HvEis fRfdwn T ot i wer
e e,

Humans may crave absolute certainty; they may aspire to it; they may pretend, as partisans
of certain groups do, to have attained it. But the history of science---by far the most
successful claim to knowledge accessible to humans—teaches that the most we can hope
for is successive improvement in our understanding, learning from our mistakes, an
asymptotic approach to the Universe, but we proviso that absolute certainty will always
elude.

Select the following that best expresses the main conclusion of the argument above.

(1) Sdience carries us towards an understanding of how the world is, rather than how
we would wish it to be.

(2) We should not accept scientific understanding as a final truth at any stage as there
is always scope for improvement.

(3) Due to lack of certainty science is not assisting us to take charge of our future and
therefore we need to depend on godmen for assurance.

(4) We should accept the scientific facts without criticism if they come from scientists.

ol RIS A /SPACE FOR ROUGH WORK

P.T.O.



X11 4 A

2. e % Fafm seedHs gEie TR TR S 6T 9 ST 49 3R, Aneed] SHEn
AT 7 Jeifieda aee FEs T a0 a7 Awfreera e o, gesien e snfn
=T AT B 5@ TS TEaeiE § A SRSFTS Seeedl TEs o,

T FFFERIda FRgEaTT TEEUR YErAte vae 9y faur frere.

(1) & IFFER FH WS g A T SR YO et .

(2) @ gfoar geefts g SHF g Toe e A i e o aegfeddter s
.

(3) @ IfaaaE geEtat Jgde E T HS ARD B /A 1 afiine Fe 3 e

(4) T1EF U UHE A T ST Uk GERIGT HRUNYT 3 37 TH 6 .

Sunspots are relatively cool dark areas developed on surface of the sun periodically. It is

observed by scientists that high sunspot activity ceincides with stormy period on the earth.

Thus periods of strong and widespread stormy weather that earth suffers are caused by

increased number of sunspots.

Select the best statement of the flaw in the above argument from the following :

(1)  Argument ignores the influence of low sunspot activity on earth’s weather system.

(2) Argument disputes the fact that storms are resulted from low pressure systems in
the earth’s atmosphere.,

(3) It overlooks the fact that there is always a storm somewhere on the earth.

(4) Since two events coincide argument assumes that one is the cause of the other.

3. WX - 3% 3 e #@ a0e A Y - 39 4 R @ 9 | qEie e e
HORT 3T amerE e,
ST I AR =T fommm = v2ars &ifaw Tt =T siteen S SAre 3 mewdd
HivITeF ST e A% v, TR oul Sue T df A9 9 @IEl 949 @, §an o,
Fferr= 71 9T guE B W TE . e S v eiedy w 9 fer @l

A N AR AN

If X - axis represents time and Y - axis represents speed then select the appropriate graph
that represents following information.

Immediately after sky diver leaves the airplane person starts falling faster and faster until
he or she reaches maximum speed which is referred as terminal velocity. Person continues
to fall at this speed until parachute opens. Parachute lowers person’s speed until much
smaller speed is reached. This speed remains constant until person touches the ground.
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4, ¥R OEn e oM. e e siree fidem TRt aea T i,
Y,W,T,P,K?
1 F (2) E 3 G (4 D

A letter series is given. Find the rule in the series and identify the correct answer from the
given alternatives.

Y WT,PK?

1) F 2 E 3 G 4 D

5. s,T,U,v,w,xaﬁY%qmﬁmmrém.msm,m"rwafmm%kmat
wﬁmmwuwvanwﬂummmmumwanwxmmﬁ%%Mﬂwm
W W, T Y = (a0 1 km T T, wmvma%ﬁﬁ%mmaﬁrwm
1 km T . mmﬁﬁam%kmw&mﬁwﬁm.

1) U W 2 VT @) U X 4 XY

1
5T, U V,W, Xand Y are the streets parallel to each other. Street S is 2 km to the south

1
of street T, street U is 1 km to the north of street V, street W is — km to the north of street

2
1
X, street W is 1 km to the south of street Y, W is 3 km to the south of V and 1 km to the
north of T. Select the pair of streets which is not % km apart.
(1) UWwW 2y V. T 3 UX 4 XY
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6. Tl HYF FIAET WAGH 8 WeH fag @@ R, 9 ¥ I9E W TR, 8 €ae UE @M
&N, 6 191 998 9 ¥F @A TE, 4 O FOE 9 UF @\ Tea, 4 50 99 § o wm e, 3 9w
3% SeATETIE 3 e W T, 91 T TZ9 et TR S Raan @

1 25
@ 14
@ 17

@) ¥ T HIUE T WA € e AHears Tl WeA mu = T

Among all members of a joint family 8 members don't eat chiku, 9 don't eat papaya, 8
don’t eat guava, 6 don't eat papaya and guava, 4 don’t eat chiku and guava, 4 don’t eat
papaya and chiku. 3 members don’t eat all 3 fruits mentioned. Select the option that
indicates total number of these family members.

(1) 25

(2) 14

3y 17

(4) It is impossible to find expected number as information about fruits they eat is not
given

7. U fowme e W Wi SreEa s R T8 I wearaR feffie o, Hiew e
SAE T AT 1 TOTF STHEHE RSt W franw Se fohmd Siwe el S, J=arras
R A AT 37 T sRd W A Wew 40 19 wup faenm vwett W, Ao ient e
AT 17 3 U W, A1 WO WA Waeel STHRT 25 w1 T SO weA faana v
ifem S T TORY W, R HiX ATEA 55 3T W wEia ifew iR e,
(1) 9.75 (2) 9.50 (3) 8.00 (4) 8.75
The auto fair in certain place is based on metre reading and is described as follows. The
metre reading is rounded up to next higher muitiple of 4. For instance, if the metre reading
is 37 paise, it is rounded up to 40 paise. The resultant is multiplied by 17. The final fair is

calculated by rounding this number to nearest multiple of 25. Select the final fair in rupee
if metre shows 55.

(1) 9.75 2) 9.50 (3) 8.00 (4) 8.75

8. 1981 = HiRMET 1 TRET AR Bidl. VR gres e 9r feaw sl S e
Bt 2
(1) SffeEr 28 (2) SRR 29 (3) SRR 27 (4) T=FE1

It was Thursday on 1%t of October 1981. What date was it 4 days prior to the fifth Sunday
immediately after 1%t of October ?

(1)  Oct. 28 () Oct. 29 (3) Oct. 27 4) Nov.1
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9, fawuer= FasietoTad! STHIE TI=aT 3718 e 1T M-Sl 9 e JUUR AR, =R
wi= safeEa T daet srre T AurieEE AR et aTR. o e S wiTe et
STy Ter=an Wt faama &se oo (@ Fram @ama 391 T, A ° SeiE IS arsen
G T O FalT [een e 9T 9 A6 B W C T AUedl Qs TR S e
TR TO I UHTE S Ut TRe TE. E O e TE D e et oS 9. GO
e F =1 T& 9 TP 99 S U e FYRT TG e B a1 ¢ =0 $eR e
H &1 Ygwie A TR 91 e g U ST 9O o U i W | e, feeea g
U ST WS A AT HAAe IR gA-SEhS S/ Taiw v g/
IEEE]

(a) -E—D b G-D (c) A-E (d) A-C e) E-A
Whﬁ‘?ﬂi‘:

(1) = (a) 9 (d) @ (e) T wd

(3) X (a), (c} T (e) (4) W (a), (c) T (d)

Jamal is trying to arrange his eight horses in four rows of two to a chariot for movie shoot.
Though he named them as persons but he also labelled them with letters. He knows his
horses well and considering their habits he needs to observe following rules. A must
always be on the right-hand side but not in the front row. B and C must be in either of the
middle two rows, but not necessarily in the same row. E must always be immediately
behind D. G must always be ahead of F but both should be never on the same side and
never next to B or C. H must be as far away from A as possible and not on the same side.
Select the possible pair/ pairs from the given list, from right to left that can be there in the
row immediately behind front row.

(a) E-D b G-D () A-E (d) A-C (e} E-A
Answer options :

(1) Only (a) and (d) (2) All except (e)

(3)  Only (a), (0) and (e) (4) Only (), (c) and ()

10. TEen Arsmee o = 2 fdt <favren faet Ao derren deren faem = e, dugm =
et wiyden 5 foprt ax werEEen WeTaen fire v wy wrawmdiee o ay @ sy Afon
WA Hraswhetaw 2 farst I, 11 km gaer, 2 fwt gfuoren anfin dedt 5 fedt afeaien e,
71 fauTang T URE a8, AW TN, Hal S SiEsan BER w60 o ok ear
FA! W P TR TA@ AL WY WESA 2
(1y fem (2) HerR (3) TeEE (4) iR Tt T
Disha rode her bicycle 2 km to south of her home to meet her friend Melani at her home.
From here both went 5 km west by separate bicycles to meet Mahargokh at her home.
From this point these three friends went 2 km north, 11 km to east, 2 km to south and
finally 5 km to west by separate bicycles, From this point they started cycling at the same
time and with same speed to return their own home using shortest route, who will be the

last person to reach home 7
(1} Disha (2) Melani (3} Maharookh {(4) Datais not sufficient
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11. Eia femare sram St S STIeted] TR 9RETeT Jai Sase Auee v e,
6 e TR A, <t F81 T8 YROT Heal. A § Fa TS AR,
(1) Td S HD Y0 HCE. TN Y& 3 U0 FLG), WM § g 9IS ST,
(2) TE A T YR FOW. T E G . U FETa Fos g7 @,
(3) o TEE T YR FER. T WS TS U FW. E  FIS EE AR,

(4) F g& ol YR FA. I SEE FS ST, FeUE Hel Y T S,

Study the following argument and then select one of the given options most closely parallels
the reasoning used in it.

All fruits grow on trees. That plant bears fruits. Therefore that plant is a tree.
(1)  All trees bear fruits. That plant bears fruits. Therefore that plant is a tree.
(2)  All trees bear fruits. A cassia is a tree. Therefore cassia bears fruits.

(3) All cassias bear fruits. That tree bears fruits, Therefore that tree is a cassia.

(4) All plants bear fruits. That pod is a cassia fruit. Therefore all plants are cassias.

12, T Shd FURHIER, ‘bright fresh sunny day’ =1 €& ‘mec rig koh muf’ & 3R, ‘fragrance
of fresh flowers” T & 'rig pok og hez’ ¥ M. ‘bright colours of baskets’ = THT ‘net muf
nuk pok’ ¥ 3 3001 ‘basket filled with flowers’ =1 F¥%d 'pit net og jec” &l . 91 wifed=
39N e quiaYy faahfag | e A TR = fAael

(1) fragrance of fresh flowers (2) colours of bright flowers
(3)  basket of fresh flower (4) bright flowers filled baskets

According to certain coding system, “bright fresh sunny day’ is coded as ‘mec rig koh
muf’, ‘fragrance of fresh flowers’ is coded as ‘rig pok og hez’, ‘bright colours of baskets’ is
coded as ‘net muf nuk pok’ and ‘basket filled with flowers’ is coded as ‘pit net og jec’.
Select the group of words that cannot be coded completely using this information.

(1)  fragrance of fresh flowers (2) colours of bright flowers

(3) basket of fresh flower (4) bright flowers filled baskets
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IRHEER 6 TUE e feoran fRgevrs=r ageaien Jedl. T 109 Sidet 7190 @ 24 a9
TGS AETEE FE T FeES Svet T T, TR §d 5oy Egare
Fret e e

TR} 12 T = 07 AR 2

(1) TR et ST T69 90 /e FR0 ) &= S0 9997 ) 9o,

() T IH TEW T aEETErE el T

(3) Tormitel e T8,

(@) oo gew ot Freel wlen e enfon s =i T,

Using given information choose most logical answer.

Melinda and her brother are sharing their residential flat with some persons; there is a
married couple, a pair of twin sisters and a pair of cousin brothers. Though one of the
sisters is not a good bike rider, all ladies went for a day long bike ride. One of the gentleman
being doctor went to attend a patient in the morning who needed 24 hours care. All other
gentlemen went for nature trail for a day.

Who is at home at 12 O clock noon ?

(i) Only gentleman who is a doctor as he returned after completing his dutv.
(2} A twin sister who is not good at riding a bike.

(3} None of the lady.

(4) Three gentlemen who went for nature trail and returned home early.
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14, 3B Jaen suftn wwidier Jere wearw fog=n vt 75l ghrear §9 FRwiald, TSRS
YT THA O ATEH Ieiel TTF THA HA 79 heil Y. feotewm wWRdedy  wehfasTa
FES T It TR wataigs freaelt dvamet 3fse vt fae

1 2 3
O @ ®C
O

O
®
O
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(1 Jiel X |
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o)
@

O O Qg 1O

LOO ‘ ® o (Oe

@ ® O
a b C d

T I

(1) A-1d (2 A-2c (3) B-1;b 4) B-2a

Every third tile is designed by combining elements of first two tiles across the rows and
down the columns with exception that like elements getting superimposed are cancelled

out. Select location of the tile illogical with respect to the pattern and choose the appropriate
tile for replacing it from given options.

1 2 3

O

[ J
o
...

Answer options :
(1) A-1d () A-2c (3) B-1;b 4 B-2a

o o 00
O e O e O

b C d
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15. T SORY 2 36 339 TF WH i faww vwed, = o i i R Twamed 125% 3
famweil, UeRT ST=aT= TElT YEA=T= fwt Ay w ey ?
1 3% 2) 30 % @) 29 (4 28

A dealer buy’'s eggs at ¥ 36 per gross. He sells the eggs at a profit of 125% on the cost
price. What is the nearest selling price per egg ?

(1) 33 paise (2) 30 paise (3) 29 paise (4) 28 paise
16. 2011 =t STTHTER AR feema % TerErET WAt A

(1) 61.6 (2) 644 (3) 63.4 (4) 66.4

According to 2011 census % of population is literate in Nandurbar district.

(1) 61.6 2) 64.4 @) 63.4 (4) 664
17. A &

foeme et =

(@) IEAHIR @ I

(b) TR () TEIER

(c) Trefate (@), S

(d) T (iv) &

g IV

@ (®) ¢ (@
L 6 @ @) )
2y @ @) @ @
(3 Gv). @@ @ 0
(4) @) @ @ @)
Match the following :

- District Irrigation Scheme
(@) Yeotmal ) Jaygao
(b) Nagpur (i) Tultuli
() Gadchiroli () Venna
(d) Buldhana (iv) Bembla

Answer options : .

. (@ (B () (d)
1 @ @ @) (v
(2) G @v) @ (i)
(3 Gv) (@) @) @
(4) @) @ @@ )

el AT SR /SPACE FOR ROUGH WORK

P.T.0.



X11 12 A

18, TERTSIE TE] RN Ta T8 WIS FiS e 7

(1) FreER (2) WETR (3) TR (4) TR
Where the largest deposits of coal are observed in Maharashtra ? |
(1) Kolhapur (2) Solapur (3) Navapur (4) Ballarpur
19. & T e SuE AT
(1) o 2) & (3) TR (4) ol
is the tributary of river Mula.
(1) Pavana (2) Vel (3) Kudali (4) Ambi

20. WY FIOT T T ST 9 seqfatrm uag o ?

(1) &t () v T

() el T %) =l

Which of the following soil is rich in oxides of iron and aluminium ?
(1)  Black soil (2) Laterite soil

(3)  Marshy scil {¢) Desert soil

21.  2001-2011 T RFTRY WSS SO E el o 9wl ?

(1) 11.99 (2) 10.99 (3} 14.99 (4 1599

How many percentage of population in Maharashtra increased during the decade
2001-2011 ?

(1) 11.99 (2) 10.99 (3) 14.99 (4) 1599

22. 2011wmmwmwwmwmﬁmzﬁ
FHIT S ?
(1) 102 @frgs (2) 1011 3nfres (3) o92amfrg2 (4) 88 w102

As per the 2011 census, what is the percentage of Schedule Caste and Schedule Tribe
population of the total population in Maharashtra ?

(1) 102and88 (2) 101land 88 {3) 9.2and 8.2 (4) 8.8 and 10.2
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(b) L
(c) =
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Tt 29y
@ ® © @
1y vy @y @ @
@ @O @ @@ )
G) ) @ 6 @@
@ @ ) @
Match the following :
Iron ore production
District
(a) Chandrapur
(b) Nagpur
(c) Gondia
(d) Gadchiroli

Answer options :

(1)
2)
&)
(4

@ ® © @
) @) @ 0
O @ @
) @ 6 G
@ 6 6@ W

13

(iv)

(1)
(i)
(iv)

X11

Place
Surjagad
Khursipar
Bhivapur
Asola
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24, A F/ TR faar, e sEt oy e ?
(a) B TR WREEN 7 e,
(b) 9 TEAIIRT 99 AEe .
(c) oo m et Semie Aea gy o,
T I
1) (@ (2) (@) O @) &), © (4) (@) ) ©

Which of the following statement/statements is/are correct ?
(a) Mangrove forests are found in Thane district.

(b) 0Oilis produced from Rosha grass.

(c) Tiwar is an impostant tree in Gadchiroli forest.

Answer options ;

(1) (a) (2} (@) (b) (3) (o) () (4) (@), (b). ()
25, AU 2011 WA S0 o A En wHl H] 7

(1) she (2) Wyl (3) TS (4) <R

As per the census 2011, which district has less population ?

(1) TJalna (2) Parbhani (3) Amravati (4) Latur

26, 1527 WA TEI FIOITH IR SHIRTI JETST TYTIAR QREISTI®! SFIURAT earel FEWRT A&t ?
(1) UETH, s (2) HU IR
(3) THEL T (4) TA IR T

A Workers and Peasants Party was founded in Mumbai in 1927. Which of the following
leaders was net involved in its establishment ?

(1) SS. Mirajkar (2) KN. loglekar
(3) SV.Ghate (4) M.R. Jaykar
27, TN focwa el A Termaet TRIFTa 1930 HIeH Hersrst Qahait N AT
TS TRasien et FaeR g Fel
(1) TEY S (2) e ¥
(3) FECE AL () FFEEE
In 1930, in the Mehkar and Chikhli Taluquas of Buldhana District, the farmers who were
in debts began a campaign under the leadership of on the lines of Satyashochak
Movement.
(1) Pandharinath Patil (2) Keshavrao Jedhe
(3) Keshavrao Bagade {4) Anandswami
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28, ST [
(a) IMTH, TWH (@) g T e
by T AFTER (i) WrETE, SR HE e
(¢ o @ (i) wEE H
(d) & AR T (iv) sTEears wa= dfae
i S
(@ () (o (d

(

() @) @) (i)
@

@ v @ (i

@ 0 @ @) G

Match the following :

(a) R.S. Ruikar (i) Hindustan Red Army

{(by Maganlal Bagdi (i) Principal, Seksaria Commerce College

(¢} Dr. Khedekar (i) Forward Block

(d) Shriman Narayan Agrawal (iv) Freedom fighter from Akola

Answer options :

@ (®) (& @

) @) @ G (@

2 (v @) @ )

3 ) (v) @) ()

(
(
3

@ @ @ @) @)

29, wreifirs fem e =@ IOEE ofee faUes 1911 % SR FEied 79

(1) TerereE Aem 2) ®.3& T

(3) Te FE TrEs (4) =g TS

The first bill to make Primary education compulsory was moved in the Imperial Council
in 1911 by . |

(1) Pherozeshah Mehta (2) KT. Telang

(3) G.K Gokhale (4) Badruddin Tayyabji
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30. fuew, Wi ety = R
(a) FawE T

(c) TirvTes HivAT |6

i I

(1) (a) 0% () T

(3)
Besides the Bhils, Kolis and Dhangars

(a)
(c) Gopal Moreshwar Sathe

(b) AT (c) T
Sitaram Gadre
Answer options :

(1)
(3)

(a) and (c) only
(b) and (¢) only

16

(2)
(4)

IS Fad HEFIFT A3 Them.
. 3
TATST TR

(b) st (d) TR
(a), (b), (c) HW (d)
joined Vasudeo Balwant Phadke.

Ramchandrapant Kulkarni

Umaiji Naik

(b} and {d) only
(@), (b), {c) and (d)

31, ' IFHA WU FHGAT TN HE 2
(1) v few
(3) TILT. TR
Who established the "Deccan Sabha’ ?
(1)
(3)

Lokmanya Tilak
G.G. Agarkar

= TR
. e

Justice Ranade
G.K. Gokhale

32. e wie sfudyrm wd@ias =@ wvrn feaias yiem i siEem Sof F6 32

T EN

1)
(3)

(2)
4)

T SHeE

ELIR: £GI)

Who had organized a training camp for the ladies who had worked as volunteers at the

Faizpur session of the Congress ?
(1)
(3)

Usha Dange
Rosa Deshpande

(2)
(4)

Prema Kantak
Usha Mehta
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33, 27 % 1879 sft feesomi 37eh Favdm STl TRIANHI HITR SRS AR SATAR 3TA Bt 7

(a) @ 15 e Fad A4, fraeh SereRd Rt S’ ® s T e s
et o wits et deh.

() T I o Foem e, TEER SRR 9y Sl e et
] e M,

(¢) R Toradt 5 firErst IEs g we.
(d) i A RUST’ ¥ ga9 gF FA.

Tt 39
(1) (a) o1 {c) w0 (2) (a) FfOT (b) o
(3)  (a), (b) =fe1(q) Fexr 4) (@), (), () 37 (d)

Tilak was arrested on 27" July 1879. Which of the following charges were levied on
him ?

(a) The publication in the Kesari of 15t June of a poem titled “Shivaji’s Utterances”,
read out by a young man at the Shivaji festival.

(b) The speech Tilak had given at the Shivaji festival in defence of Shivaji’s killing of
Afzal Khan.

(c} He started celebration of Ganapati and Shivaji festivals.
(d) He started ‘Maratha’, a newspaper in English.

Answer options :

(1) {a) and {c}) only (2) (a) and (b) only
(3) (@), (b} and (d) only {4) (@), (b), {¢) and (d)
34, offaa WIREG fRaw wiven gu sfuavATen oegswR @
(1) w3t tm 2) v (3) &\ (4) M=

The second session of the All India Kisan Congress was presided over by

(1) N.G. Ranga (2} Shankar Deo  {3) Narendra Dev (4) S5.A. Dange

oA HIAE A /SPACE FOR ROUGH WORK
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35, e S

o, firemt? foreror weem

fresm was

e sy #@ Fi Fie
AN, FFFT YR AEEe

el
o
|
3

¥
}
%ﬁl
ZE

(@) @) (& (4
U @ @ @ )
2 ) @) @ @
@ @ @ @
@ W @ W)
Match the following .
{a} Maharshi Dhondo Keshav Karve (i)  Shri Shivaji Shikshan Sanstha
{b} Karmveer Bhaurao Patil (i) Nishkam Karmamath
{¢} Maharshi Vitthal Ramaji Shinde (iii} Silver Jubli Rural Training College
{d) Dr. Panjabrao Deshmukh (iv) President, Deccan Education Society
Answer options :

@ () (© (@
)@ @ @ )
() v @ @
@ W O @
M @ @@ @ 6

36. T3 AFATe TS TR vE dfvrea T ?
(1) T Ty (2) T
(3) THfew SRRt (4) TS =
Which is not the salient feature of State Cabinet System ?

(1) Leadership of Chief Minister (2) Secrecy
(3} Collective Responsibility (4) Leadership of Legislative Assembly

Foedl HMTEE AT /SPACE FOR ROUGH WORK
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37. Sreu - (Tey e arieie o)

‘ap? ‘q
(a) TEARER AT o=t FeavmE (i) AR 47
(b) FEA AR HiEm i) STTRT 40
(c) T S=adTE T (i) FTRT 49
(d) T T He (iv) HATRE 44
(v) SRR 51

watdt 34y

@ () @ @
B O @) @ ¢
(2) (v) (v) (i) (i)
B8y & & @ )
(4 O @@ @) (v
Match the pairs - (Directive Principles of State Policy)

‘A’ B

(a) Setilement of International (i) Article 47

disputes by arbitration
(b) Uniform Civil Code (i) Article 40
{c} Organisation of Village Panchayats (i) Article 49
(d) Protection of National Monuments  (iv) Article 44

Answer options :

M
(2)
3)
4)

(a)

(b)
(iv)
(iv)
Gi)

(iid)

(©)
(i)
(id)
M)
iv)

(v} Articde 51

X1
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38. g faym (Fu9) H=El.
(a) Faum ituesiel Swi=l TRV 9SO IFANE fAYREYsa 9eeatE TR SeEE U
(by < anfor smfemeen fagm Wi 108 95w &4,
(c) = anfor sfvsre=ar Taum afisty 36 w555 oA
TE IR
1 (@ ) ®) 3 (9 (4) O R T

Identify incorrect statement.

(a) The total number of members in the Legislative Council of a state shall not exceed
one third of the total number of members in the Legislative Assembly of that state.

(b} Legislative Assembly of Jammu and Kashmir has 108 members.
(c) Legislative Council of Jammu and Kashmir has 36 members.

Answer aptions :
1 (@ @ () ¢y © (4)  None of these

39, YU TIR FLTHETGHET H2A WA IR AT 39 FHiEed W g faerm =
(a) T 1949 TE} YRGTEN TTHNN TS AT fae.

(b) 22 1947 ST TS WHRA.

(©) 24 STERT 1950 TS W= SRR Ham.

(d) 26 T 1950 TT <. TR W Al YRaT et et U fae .
L e

(1) W ), (¢ T g, (2) fasm (a), (b), (d) SR e,

(3) faum (b), (), (d) TR aEa. () faum (a), (b), (c) FC= e

Consider the following statements regarding other functions performed by the Constituent
Assembly in addition to the making of the Constitution.

(a) Ratified the India’s membership of the Commonwealth in May 1949.

(b} Adopted the National Flag on July 22, 1947.

() Adopted the National Anthem on January 24, 1950.

{d) Elected Dr. Rajendra Prasad as the first President of India on January 26, 1950.
Answer options :

(1} Statements (b), () are correct. - (2) Statements {a), (b}, (d) are correct.

(3) Statements (b), (c), (d) are correct. (4) Statements (a}, (b), (¢} are correct,

T EHETETE AT /SPACE FOR ROUGH WORK
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40, ¥RaT Wl AEeERTS AR e FraaE Rt i T EvEs
g et 2
(1) T 3= e e g e SR,
(2) o 3= e T oY AT i ST,
(3) oA =Tt 35 oY quf el el Tiest.
(4) TSTE=N T @ A (Nfafed) HERds T

Which one of the following is net a essential qualification for the appointment as a judge
of the Supreme Court of India ?

{1} He should have been a judge of a High Court for five years.

(2) He should have been an advocate of a High Court for ten years.

(3) He should have completed the age of 35 years.

(4) He should be a distinguished jurist in the opinion of the President.

41. e faurd fa=mm =
(a) TERTTEN faum TN e WEA 288 IR,
(b) ot faer ¥ werrgren wfee faumaa (1960) T 2.
FIATET T/ T/ wtat /97
(1) FH () () = Pb) @) @) (@ TR T
Consider the following statements :
(a) The strength of Maharashtra Vidhan Sabha is 288.
(b) Sayaji Silam was the First Speaker of Maharashtra Legislative Assembly (1960).

Which of the statement/s given above is/are correct ?
(1} Only {a) (2) Only (b) 3) (a) and (b} {4) None of these

42. TG TEEIA TEHIT GUEE wEEh faym -
Y (a) O ISR SR ST 3.
by ° Fgwy/ =ty e,
(c) ISl TP 7L, AT SO S o Wi .
(d) T FEE INGH ARIEHEIET I,
i 36
1) @ @@ (2) (a), (), (9 (3 (@ © 4) (@ ()

The correct statements about Fundamental Rights are :
(a} They are enforceable in the court of law.

(b} These rights are absolute.

(c} They can be suspended during national emergency except some.
(d} They are available only to Indian citizens.

Answer options :

1) @ © @ (2 (@ ®).© 3 (). ) @ @ (d)
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43, vdfreRamaa Teeris! S faum aiEt A2
(1) yfdsTn W o O WOEET VI T,
(2) WRA & yfRds Te AT RURre 3R R N wa i e azwyen it Fremarar v
CErS
(3) wrarTed yfrlaren o aran M = T et Wi W ST, W e ovm ST
1 e fafay awined TET o dee e g
(4) ywien STRER FARAT SEEA w0 iy S faeg o

Which one of the following statements with regard to secularism is not correct ?

(1) The secularism is not a part of the basic structure of the Constitution.

(2) India is a Secular state i.e. a State which observes an attitude of neutrality and
impartiality towards all religions.

(3) Secularism, in India, does not mean that the State should be hostile to religion but
that it should be neutral as between the different religions.

(4) An appeal to the electorate on grounds of religion offends secular democracy.

44, ArTOATE - (SEGE SRR

3 31:1 ‘ﬂ'
(a) STEgTEET W )y =15
(b) SHIHEEER HEAl @) ST 17
) wei=t g (i) =T 14
(d) wevER wfaey (iv) T 16

ol s4y
(@ (b)) (© (@@
(1 @ @ @) (i)
2y @) vy @ G
3 @ @) @ 3@v)
4 @) @ @) @
Match the pairs - (Right to Equality)

JA! IBF
{a}  Abolition of Untouchability i) Article 15
(b} Equality before Law i) Article 17
{¢} Equality of Opportunity {iii) Article 14

(d) Prohibition of Discrimination (iv) Article 16
Answer options :
@ & (@ @
(1) @ @) (@) (v)
(2} @) @v) @ )
B G @) ) (v)
(4) (i) (@) () @)

FoAT @ SN /SPACE FOR ROUGH WORK



A 23 X11
45, WG TeoEeTo SLINFRRTER WRA ¥ TOREY 312, TURFEreT 31 s ?
(@) N STEETE Teaat .
) = wE  fEfre wemadee! s Terw s st Fesde swE.
it I
(1) foum (@) =R ST, 2) faum (b) TR =R,
(3) S faum gt oA (4) I PR TR i,
According to the Preamble of the Indian Constitution, India is a ‘Republic’. What is the
meaning of Republic ?
(a) There is no hereditary ruler in the country.
(b) The head of the country is always elected directly or indirectly by the people for a
fixed period.
Answer options :
(1) Statement (a) is correct. (2) Statement (b) is correct.
(3) Both the statements are false. (4) Both the statements are correct.
46, Forman SR TEETERIGTG SA R, 2005 WA oFed s sfywran
Hds I TR T
(1) oM 8 2) e 9(1) (3) e 101) (4) e 10(2)
Under of the Protection of Women from Domestic Violence Act, 2005 the
Protection Officer shall have to discharge various duties.
(1) Section 8 (2) Section 9(1) (3) Section 10(1) (4) Section 10(2)
47. TR AAE AYER swEren serarEt s e o Wit e wten @

i HEG O WA ST,
(1) TEEN (2) s oy =
(3) EEES 9Eg (4) JauEH
The Chairperson of Naticnal Human Rights Commission is appointed by President on
recommendations of the committee consisting of the _____ ____ as its Chairperson.
(1) Home Minister (2) Leader of Opposition
(3) Speaker of Lok Sabha (4) Prime Minister

Foell THTHTHIES! SR /SPACE FOR ROUGH WORK
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48, WIE! TR Tuewr AfufrEm, 1993 TRR A sifumwrsn e Ffn e weearsr
Tifeviet WIS o VI S5 =ATeeraTeyT YA M HTe Ged Vel Taeanarst

T T AR =TT R T
(1) V&R e SeTyHaTs = 2 e <
(3) Teawh =mawm ) T AR

For the purpose of providing speedy trial of offences arising out of violation of huwman
rights, the State Government may with advice of Chief Justice of each High Court specify

for each districta __________ to be a Human Rights Court, as per the Protection of Human
Rights Act, 1993,
(1)  Chief Judicial Magistrate’s Court (2) District Court
(3) Civil Court (4) Court of Session
49, AT I 7 Eiwa WA (SeaRw wfasy) sfufem, 1989 wed T g
e T TR,
(1) 6,25 2 1v,26 (3) VI 24 4 V.23
The Scheduled Castes and The Scheduled Tribes (Prevention of Atrocities) Act, 1989 consists
of chapters and sections.
1) 6,25 @ TV, 26 @) VI 24 @ V23
50. ‘werew1 Mt dengaa M wifEs ' =t geaw A Fed,
(1) 30 ¥ 2006 (2) 15 #HiTEE 2007
(3) 2 et 2007 (4) 30 TR 2007
Mahatma Gandhi Dispute Free Village Mechanism began from
(1) 30t September 2006 ) 15% August 2007
(3) 2™ QOctober 2007 (4) 30™ September 2007
51. v AfteR wRAE ST FAT=oeme fie s

(1) 20 anfw 21 (2) 23 amfe 24 (3) 22 ¥ 25 (4) 25 3 26
Right against exploitation is given under following Articles of Constitution of India :
(1) 20 and 21 (2) 23 and 24 3y 22and 25 (4) 25and 26

HAT HIETART AN /SPACE FOR ROUGH WORK
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Sgfwa e 9 SrfEa S (SR wfesy) aifufm, 1989 =0 %6 15 T8R, 79 A
T fadm <o e TefaaRTET, TEE I TSRS Sfaagn, favm e st

U TET YT sfvEEa e e Fa siesa wvE __ den et Tede
TR T HEEE T AET] AR JHE RO
(1) @y 2) =T @ T @ e

According to Section 15 of S.C. and 5.T. (Prevention of Atrocities) Act, 1989 for every
special court, State Government shall, by notification in the official Gazette, specify a
public prosecutor or appoint an advocate who has been in practice as an advocate for not

less than , as a Special Public Prosecutor for the purpose of conducting cases
in that court.
(1} Seven years (2) Five years (3} Ten years (4) Eight years

53.

sTefed ol & orrgfad et (SR viiey) sfufm, 1989 78R S9gfEs Il 9 SR
ST SRET ST TR RIS TRt SO AT e FROE ST S iEaas 3e st

Fieaen wH T it T wid F1g TES I gETEETT e B
.
(1} 1 3fEm; 1 (2) 2=fE; 2T
(3) 69Tk 5 a8 (4) 3#feY;7a%

As per Scheduled Caste and Scheduled Tribe (Prevention of Atrocities) Act, 1989 whoever
forces or causes a member of Scheduled Caste or a Sclieduled Tribe to leave his house,
shall be punished with imprisonment for a term which shall not be less than

months and may extend to years and with fine.
(1} 1 month; 1 year (2) 2 months; 2 years
{(3) 6 months; 5 years (4) 3 months; 7 years

54.

AT TaF W A7fufTEm, 1955 T 16-A =8 w1 SHtae 11 srfafqanmaret fasmms srere

TG ST HearaEe SS1 STavam Aol ST 379 T SaTe SOt SR
* st wftetan wfifg '’ 1958 (1958 =1 24) FreAT RS S BVR ATEE.
(1} 12 =m (2) 14 =uf (3) 16 =t @) 10 =si

According to Section 16-A of the Protection of Civil Rights Act, 1955. The provisions of
the probation of offenders Act, 1958 (20 of 1958) shall not apply to any person above the

age of who is found guilty of having committed any offence punishable under
this Act. '
(1} 12 years (2) 14 years (3) 16 years (4) 10 years
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55. WMAE! §ERIEN WiaE SRARE Herd Y WHAITE GUEaas s aEgs
fawe o 3% T WRAE TIEEAdE AT T GEIE e SR,
(1) 8,29 (2) 22, 29(1) (3) 18, 24 (4) 17, 19Q0) (a)

Article __________ of Universal Declaration of Human Rights mentioned about Right to
Social Security which covered under Article of Indian Constitution also.

(1) 8,29 2) 22, 29(1) (3) 18, 24 4) 17, 19(1) (a)

56. ¥ SORN W A HHAR AR WY Sfaa Tt fhar e e 959 TR g
FAGT S & ST e (TR AEy) SEg, 1989 WIEH STYE e SERER UK

YT Tl STReaTE ST e e HH TEAEAT Y T Tg
T 3N gEETarer= e €% T,

(1) U= Hiew, 9 AfE (2) el AiET; 91w

(3) UE ;T e (4) AT, T T

A person being a public servant but not being a member of a Scheduled Caste or Scheduled
Tribe willfully neglects his duties to be performed under the Scheduled Caste and Scheduled
Tribes (Prevention of Atrocities) Act, 1989 shall be punished with imprisorunent for a

term not less than but which may extend to
(1} One month; six months (2) Six months; four years
(3) Ome year; two years (4) Six months; one year
57. ge@a sfufvesran g21 30 fofan o0 a9 areft Tasn <.
(1) & a9l o (2) T awiven wE @
(3) SR U HH (4) T gufey T A
Under the Dowry Prohibition Act, Punishment for taking or giving dowry is :
(1) Not less than two years (2) Not less than three years
(3) Not less than four years (4) Not less than five years
58. T g waw arfufrm, 1955 Avfie wom TR 7 faFms fra O Tees
FT AT THRCAERT el S0 g
1 4 (2} 5 (3) 6 @ 7
Section of the Protection of Civil Rights Act, 1955 refers punishment for
refusing to sell goods and render services.
L 4 2) 5 @) 6 4 7
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59. FEfaw fEaam e wites S, fram 2006 =0 fam - 8 T0R Tty sifusrare #eisa e
% -

(a) Wedw THR FUEw dAwrE T,
() foew ifsa sfwren siframist wfedt 20,
© ERen P TR R S e I R S R T SIEEsT S,

gt o faum faas wdew sma ?
(1) I (a) R AX (2) T (a) T () I TR
() = (b) T (c) TEL IR (4) T TR R

As per the Rule - 8 of the Protection of Women from Domestic Violence Rules, 2008, it is
the duty of the Protection Officer to :

(a) assist the aggrieved person in making complaint.

(b) to give her information on rights of aggrieved persons.

() to prepare a ‘safety plan’ including measures to prevent further domestic violence.
Which of the statement given above is/are correct ?

(1) Only (a) is correct (2) Only (a) and (c) are correct

(3) Omly (b) and (c) are correct (4) All are correct

60. ‘‘Irgfaa Wt ¥ eTgfaa WHR' @1 W WErTAl, Hfaumren ST 366 9 AIER WE
( )| ( ) TR =T X e A fie emia o oredlen.

1 21,22 @ 22,23 @) 23 24 (4) 24,25

~ “Scheduled Castes and Scheduled Tribes” shall have the meanings assigned to them
respectively under clause (_ ) and clause ( ) of Article 366 of the
constitution,

1) 21,22 2) 22,23 3 23,24 (4) 24,25
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61. wRAN @t e sifufEen e 90 TER SIEAeIsml FHIvE dIv di o HH WHNua
Ha?
(a) ‘3" FZT LUFIE THAGHACAE! FHow A®. FAAAde O §FF UGN TH A S99
fagrm A SaEE A B R
(b) ‘o' N THRNHEITE TEOINRE 378, © wenTa foohg @ 59 F%!, TEUHRESS Fo
e,
(c) ‘& = S smeEm H' A, e R mren Tem San SEEade faee
TS HAER AT URUATEIG oae B o B9 S
v 3wy :
(1) TR (a) (2) T (a) A (b)
(3) W (c) 4 ==
As per Indian Evidence Act, Section 90 which of the following custody can be considered
as proper custody 7
(a) “A” has been in possession of landed property for a long time. He produces from
his custody deeds relating to the land showing his title to it.
(b) “A” produces deeds relating to landed property of which he is the mortgage. The
mortgagor is in possession.
{c) “A”, a connection of “B” produces deeds relating to lands in “B" is possession,
which were deposited with him by “B” for safe custody.
Answer options :
(1) Only @ (2) Only (@) and (b)
(3} Only () @) Al of the above
62. TRRTS Tew sifufTm 1951 Fom 52(1) TR, fem efrram (TERE g OF 9raas)

FTH 51, U2 HETH ( } A ( ) T e WUE EEE e o 99 WhH
< T T THesvaTen g Y, o T Ared STEE e we fSan vt sy 20
foan = o T T 0 € R ST

1) 3,8 2 1,89 (3) 2,10 (4) 1.8
According to section 52(1) of Maharashtra Police Act 1951, it shall be lawful for the District
Magistrate (with previous sanction of Revenue Commissioner) to award or apportion all
or any money recovered as compensation amount under sub-sections ( _Jto

( ) of section 51 to any person, or among all or any persons whom he considers
entitled to compensation in respect of the loss or damage or death or gravious hurt aforesaid.

(1) 3,8 @ 1,9 (3) 2, 10 4) 1,8

T SIS S /SPACE FOR ROUGH WORK



A 29 X1

63. WITTA ARl qEr AR S FEETNR EE SEe YUENE qg] e wuarEt

STEYIE ATE ?

n 3 (2) 3-A (3) 56 4) 57

According to which section of the Indian Evidence Act, fact judicially noticeable need not
be proved ?

1 3 (2) 3-A (3) 56 4) 57

64. TETY rAm sfufem 1951 wete werd 80(1) A WM WifrRraTT wremera fae e

FIETEE AT RITTE Sre i, wed fafafde FATN T e
FuTAiEm 3=eF W TéE.
(1) 998 2) HF 110 (3) w82 (4) w9 86

According to section 80(1) of the Maharashira Police Act 1951, any police officer specially
empowered in this behalf by a competent authority may arrest without warrant for an
offence specified in

(1) Section 98 (2) Section 110 (3) Section 82 (4) Section 86

65. WA €8 Hiear 1860 FEH 141 WA SRR S HerHvAER el wowen wed e e
AT I ?
1 A ) waffmwrs (3 WEfEmara (4)  Slets
According to section 141 of Indian Penal Code 1860 how many people are required to
form “unlawful assembly” ?
(1) Two (2) Sevenormore (3) Fiveormore (4) None of the above

66. PRI wfwa Wiedr 1973 Fem 70 =0 Jfwlq Feew eF e e F@rads Hend T/ 7
(1 17¢
@) 6HfE
@ 5=
(@) i TR T iy T Sty fa wet siweESTah S
What is the period for which any Warrant of Arrest issued by a court under Section 70 of
Criminal Procedure Code 1973 shall remain in force ?
(1) One year
@
(3) Five years
@

Six months

Until it is cancelled by the court which issued it or until it is executed
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67. RHT <% Wi 1860 Fem 22 YN FIT Hromwd 9’ H g ?

(a) e (b) g weeae T2 7 Wi
(©) & sufon rreIfie (d) oA
Tafdt 3av :

(1) (o) *0for (d) (2 @ EInE @ @y @) (d) T+
According to section 22, of Indian Penal Code 1860, which of the following property is
not “movable” property ?

(a}) Electricity (b) Stones and minerals severed from earth
{c) Money and Jewellery (d} Farm land

Answer options :

(1} (a) and (d) (2) (@), (b)and {d} (3} (2} and (b} (4) (donly

68. VREIT I WiEdial HIvma Homred TR e HerHl AT fSeet 3T ?
(1} e 120-B (2) =HeH 120-A (3) wFeH 120 (4) FEH 119
Which section of Indian Penal Code defines criminal conspiracy ?
(1} Section 120-B (2} Section 120-A (3} Section 120 (4) Section 119

69. TR Ureta sifufram 1951 =47 simia i efte deita g wefaereraT W= R
T[S ST AWE Ll 34 7
(1) HraE defa sfusd
(2) SHIA T FIEEG FE W= HUA T TR 2 SEh =
(3) Teha s ot FF I T ST FIvEAE S HiwRt
(4) W TEFSE
Under the provisions of Maharashtra Police Act 1951, who can be appointed as the
principal of police training college - Nasik by State Government ?
(1} Any police officer
(2} Any person who had been the principal of any other college
(3}  Any Police Officer not below the rank of Police Superintendent
(4} Inspector General of Police

70. wRaE waft g sfuteede wem , , Ffn L b T I T

ST ST T FIA,
(1) 12,13,14,15 (2} 13,14, 15,16 (3) 17,18,19,20 (4) 21,22, 23, 24
Sections and of the Indian Evidence Act taken together

clearly define "J;kdmissic’m”.
(1) 12,13,14,15 (2) 13,14, 15,16 (3) 17,18,19, 20 (4) 21,2223, 24
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- s it
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TN Jiear SiEtde B FEAEE I TR FH Y F TEE SatEen TEE STy
HEATE ANIEER e H0gTd AT AHeT T 79 HTqUr=a1 ST-EvoTen TaTEEr 39t
ST e S T ol Yfan STEvas He a5, W SAfumRir e
RTATAITEN, T SToarea W 2Afirerr=aren faiaas T Ui o7 FIvar e SR,
o =mrarerer 4 AR e R S =feegd B mfwssa siea i
=9 A T Hew 2 3.

(1) e 54 (2) e 54-A (3) FEH 55-A @) HET55

Which section of Code of Criminal Procedure state that where a person is arrested on a
charge of committing an offence and his identification by any other person or persons is
considered necessary for the purpose of investigation of such offence, the ¢ourt, having
Jurisdiction, may on the request of the officer-in-charge of a police station, direct the person
so arrested to subject himself to identification by any person or persons in such manner as
the court may deem fit.

(1) Section 54 (2) Section 54-A  (3) Section 55-A  (4) Section 55

72,

T swogre SyTEes & W W = {55 o Eal. ¥ 99T $ors AREl. SY9E 59
A Fo ST ANFYT FIOAT A A 9 T e g femeht W e ¥ vem

3.
et sifuffrmren Tgger a9 s fee,
(1) st (2) e (3) ¥Ex (4) FHIT

‘A’ sues ‘B’ upon a bond for the payment of money, ‘B" denies the making of the bond.
The fact that, at the time when the bond was alleged to be made, ‘B’ required money for a
particular purpose, is

Choose the cotrect answer as per the provisions of Indian Evidence Act.

(1) Disproved (2) Not proved (3} Relevant (4) Irrelevant

73. HERTE Woig eafufam 1951 Weiid ®er 12(2) TN, 3TH woe faam =1 WG
A 9 99 ToF S9-T3uF @ e e gurmamet .
(1) | Iu-arfuss (2) TR Mg
(3) TEES AR (4) wTEE o Fries
According to section 12(2) of Maharashtra Police Act 1951, each such division shall be
in charge of an and each section shall be in charge of an Inspector of Police.
(1) Deputy Superintendent of Police (2) Additional Commissioner '
(3) Assistant Commuissioner (4) Assistant Police Inspector
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74, VI g% WEW 1860 TR, WIS HI0H STENY T2 IR ?

(a) wRHRT (b) T far sifie e aRmR

(c) WS fawol ARMERT (d) WRWRIES Qa6 wad=T W

qaidr I

1) (b) w 2 ()= (3)  (b) oI (d) () =l v

As per the Indian Penal Code 1860, which of the following are ingredients of an Affray ?
(a) Fighting (b) Two or more persons engaged in fighting
() Fighting in public place (d) Fighting disturbs the public peace

Answer options :

(1) (b)only (2) (b) and {c) (3) (b) and (d) (4) Al of the above

75. BIRIG W wfea dem 11(2) @Rl St = SEifusradl ey $T hell S ST

e dere Rfusrt T T 3 S
(1) foree = (2) T §&FN
(3) 3= <ERd (4) wEr= AEE™

The presiding officers of courts of Judicial Magistrates mentioned under Section 11(2) of
Code of Criminal Procedure shall be appointed by the

(1) District Court (2) State Government
(3) High Court (4) Supreme Court

76. WA WEl AT AU 1872 1 T ¢ Al WS HwATS AURR BN ST 2

(a) =HFR SSHUHR (b) TR TRUERR (c) gEiaEmT

g vaiE e

(1) (a) BT (2) (c) B

@) ) (@ (4) shwtE T

Under the provisions of Indian Evidence Act, 1872 - TIP - test “Identification Pared” is
conducted by :

(a) Executive Magistrate (b} Police Inspector (¢) Jail Officers

Choose the correct option :

(1) (@) only (2} (c) only

(3) (b) and (c) (4} None of the above
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77. TENTg Greie U 1951 <A SHata I9ER e, WHIZ ¥, faR AR A fewmh Jenfashrmer
FIUGl FHERTHY Wal =NETUITa e S ?

(1) =4 33 (2) HEH 32 @) ®EW 30 (4) wEH33-A

According to which section of the Maharashtra Police Act 1951, dance in eating house,
permit room or beer bar is prohibited ?

(1) Section 33 (2) Section 32 (3)  Section 30 (4) Section 33-A

78. SRR Wisman Wi s 94(2) = sara ¢ sna s’ S g ?

(a) S A (b) FAEE TRESR
(¢ T faes (d) A =
waigt gt

M @t @ GEG @) BT @) (@) Q I
Under Section 94(2) of Criminal Procedure Code what is objectionable article ?

(@) Counterfeit coin (b} Forged document

c) False seals (d} Counterfeit currency notes

Answer options :

(1} () and (d) (2) (®)and (o) (3) Monly (4) (a) @) (c)and(d)

79. THIERI T Hiem FOW 96 S OISl SEATa HoH 95 WIS HHUEOT! WU HIUAE e
VRTRIR T 3TRT Sraom el gearear eI AT T AATITHE RN
Hren g FET g o wee ad.

(1) [wAfete  (2) T AN (3) wEAfEiem  (4) AW ufeien

According to Section 96 of Code of Criminal Procedure, any person having any interest in
any newspaper, book or other document in respect of which a declaration of forfeiture
has been made under section 95, may within from the date of publication in
official gazette of such declaration apply to the High Court to set aside such declaration.

(1) Two months (2) One year (3) Six months (4) Three months

AT WIS ST /SPACE FOR ROUGH WORK

PITCOI



X1 34 A

80. TERTY uea srfufEw 1951 wom 34 = g AT IS
JYRTETER ST &30, S r=g] 78 791 FREw 0 saves ST 95, ™ Ay aee
TN NeTe AU P TR A6 TFUA qRgd 6 Hevarsal SR T
TETET RS SHRUITE TR 2 Aean,

(1) foem s, Safaumia stusrt
(2) o, foem New attes

(3) HEES HAYH, U

(4) e e, deie It

According to section 34 of Maharashtra Police Act 1951, the _____ _ ___and the
in areas under their respective charges may, whenever in his opinion such

action is necessary, authorise such Police Officer as he thinks fit to erect barriers on any
street for the purpose of stopping temporarily vehicles driven on such street.

(1) District Magistrate, Sub Divisional Officer
(2) Commissioner, District Police Superintendent
(

3) Assistant Commissioner, Deputy Commissioner
(4) Police Inspector, Police Sub Inspector

81. T TT TREAH TeiiaTdeh! ST FHBR ‘ot 91 I S a3 2

(1) 10 ) 8 3) 11 4) 12
Which section of the Indian Penal Code defines the word “person” 7
(1) 10 (2) 8 (3) 11 4 12

82. THINRRI Wik wide Few 2(r) TR ¢ Ui seae ! ot Qs sty
=41 GEHEV (2) WHO =adiie s NefadeT e T,
(1) e 176 (2) oM 173 (3) T 174 (4) e 175

According to Section 2(r) “police report” means a report forwarded by a police officer to
a magistrate under sub-section (2) of

(1} Section 176 (2) Section 173 (3) Section 174 (4} Section 175

83. ‘' SEfilE dmry’ O Seem sidra <3 dfed 1860 =5 T HAAGI R,
(1) 376-A (2) 497 (3) 377 (4) ettt e
Provisions regarding “unnatural offences” is under Section of Indian Penal
Code 1860. '
(1) 376-A (2) 497 3) 377 {4) None of the above
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84. PRI WRAD WEM 1973 =1 WIEITOR TEAIA AT HEURA .
(1) e fuwrt \ie e 32F T awam
(2) iE Afwr Fie ST W SEF FT THAA
(3) HTEIE Y
(4) =t T
Under the provisions of Criminal Procedure Code 1973 cognizable offence means
E'IT__‘;];;I_ice officer may arrest without warrant
(2) A police officer can arrest only with warrant
(3) Non-bailable offence
(4) None of the above
85, YRAM &% Wiedd® Few Y WTOTerTeh QIR Wt BrHR g’ FTor a1 R
w7 feeft onE.
(1) 145 (2) 149 (3) 148 4) 146
Section _____ ____ of the Indian Penal Code defines the offence of “rioting” armed with
deadly weapon.
(1} 145 2) 149 (3) 148 4) 146
86, I %7 WA 1860 wefiw awget oot TGS e HIORGE Tt
HIVRE FOT F T B T 7
(1) u=E 2) waad (3) demad @) Iy
According to the provisions of Indian Penal Code 1860, any Act done by a child below the
age of is not an offence under any circumstances.
(1) Fiveyears (2) Seven years (3) Sixteen years (4) Twelve years
87. VIRGM %3 Tfpadta wrordt e Ao faeg sraifaedr s ?
(1) 378 ¥ 462 (2) 4637489 () (3) 499 R 510 (@) 3309377
Which sections of the Indian Penal Code deals with offences against property ?
(1) 378 to 462 (2) 463 to489 (E) (3) 499 to 510 @) 330 to 377
88, wRdE W& A sfufTEwrem ST W] PRER) WEEaWs) SR st
i S IR § A HEE S
(1) e 54 (2) M 53 (3) TEW 52 (4) M 55
According to of Indian Evidence Act, in criminal proceedings, the fact that
the person accused is of a good character, is relevant.
(1} Section 54 (2) Section 53 (3) Section 52 (4) Section 55
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89, TERTE Uty sifufram 1951 AYE TR weTH SHaESHT G SfeRri=ar FHeaEn waia
AR ?
(1) &9 66 (2) wAH 64 (3) AW 65 (4) ®EH 67

Which section of the Maharashtra Police Act 1951 deals with the duties of Police Officers
towards the public ?

(1) Section 66 (2) Section 64 (3) Section 65 (4) Section 67

90. WRAT W&t AT wEET 1872 HEHE ¢
(A)  NHia [T @S], TERT T Y & Al o o e g,
(B) 7% QUET U HIIGE TNEUNHIG TS Hele He T AU TERuT,
e we fagm /3 s /62
(1) f8uH (A) T R (B) 75T 1R (2) TaYM (A) 39 9T (B) 99 AR.
(3) (A) Infor (B) A fau™ g oG, 4) (A) snfor (B) St faurt s T,
As per Indian Evidence Act, 1872 :

(A) Hearsay Evidence is that which a witness reports himself to have heard.
(B) Secondary Evidence is when an original document ts produced before the court for

inspection.
Which of the above statement/s is/are true ?
{1) Statement (A) is true (B} is false. (2) Statement (A) is false (B} is true.

(3) Both statements (A) and (B) are true. (4} Both statements (A) and (B) are false.

91. “‘Faeit vl diea=n’’ smm wg faus e
(A) S T AHiY, 9eqEs fhen srdu A1 Gl SR s ol wedd e 3
YR,
(B) WA =afeen foctesn gegEgr=n firsien S e =l it .
'ﬂ'ﬂﬁﬂ‘ E?ﬁ‘ :
(1) faum (A) 9% g (B) R AR, (2) faum (A) SeX 3G (B) 9F AL,
(3) (A) 3707 (B) A& faum =R s, (4) (A) ity (B) Sr faum <F MRa
On the basis of Criminal Procedure Code choose the correct statement.

(A) An assistant Sessions Judge may pass any sentence authorised by Law but not a
senterice of death or imprisonment for life,

(6) Death sentence passed by a Sessions Judge requires confirmation by the High Court.
Answer gplions :

(1) Statement (A) is wrong (B} is right, {2) Statement (A} is right (B) is wrong.
(3) Both {A) and {B) are correct, (4) Both (A) and (B) are wrong.
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92. ‘U a1 viehw AR Ara’ @ STETw TR SaTeEH ey et sy s <remiterdt
T '3 9 A 9E @ S F et SR, U 9 wRatg €8 wfiE
e TR N AT,
(1) 5 76 2) o 78 (3) Few 77 (4) wET 79
“A”, a police officer, being ordered by the court to arrest "Y”, and after due enquiry,
believing “Z” to be “Y”, arrests “Z”. As per of Indian Penal Code, “A" has

committed no offence.
(1) Section 76 {2) Section 78 (3) Section 77 (4) Section 79

93, wRETg Waft e HfufaEre Jevld 9ra fRum S s ?
(A) T ER T FERt anfor et FAS ¢ et TEues .
(B) Tl SfT SOl S N TS 6 WP TREES AR,
it =
(1) Tq9m (A) % SEA (B) TR I,
(2) AR (A) R A (B) IF W,
3) faumr(A) enfn (B) T 9% etes.
(4) TaUR(A) 3 (B) T ST A
In relation to Indian Evidence Act, which is a correct statement ?
{A) Documents Forming Acts passed by State Government are public documents,
{B) Registered will of a private person is a private document,
Answer options :
(1) Statement (A} is wrong (B) is correct.
(2) Statement (A) is correct (B) is wrong.
(3) Statements (A) and (B) both are wrong.
(4) Statements (A) and (B) both are correct.

94, TEWTy deid AfufEm 1951 =9 siwla e I’ @ T Sured Tt Ser
AR W T ?

(a) TE (b) T HEW ()

(c) TRIW FwwEm (d) T T (FrwS ¥
g I

(1) (o) T 2) (o) ¥ (d)

(3) (a) N (b) B (4) o) Fate TR B

Under the provisions of Maharashtra Police Act 1951, what is not included within the
meaning and definition of the word “place” ?

{a) Tent (b) Temporary Booth
(¢) Temporary Construction (d) An open area
Answer options :

(1) Only ) (2) (c) and (d)

(3) Only (a} and (b} (4) Al are included

THEeAT SIS ST /SPACE FOR ROUGH WORK

P.T.O.



X11 38 A

95, iRl Wi Tieadia o 438(2) ReA fedem IR T e e =
FEW 438 B T (1) TEt FRY a9 a9ifaR FF v

) @ @ W= (@) W (4) w&

There are conditions mentioned in Section 438(2) of Criminal Procedure Cede
which may be included in the directions when the High Court or the Court of Session
makes a directions under sub-section (1) of 438.

{1y Three (2) Five (3) TFour (4) Six

96. HERIE Tiely sfuf1am 1951 Fem 2(11) W=, ' diedie sfasrd ' o g o34, 31 sifufremrad
ool fEan A9 STt ot o THever 3 diefe ST RIS et o Bt st

I FAd femn < “ueen faem dete sy fea R Oes
YR I TR B,
(1) 19,20 (2} 21,22 (3) 23,24 (4} 25,26

According to section 2(11) of Maharashtra Police Act 1951, “Police Officer” means any
member of the police force appointed or deemed to be appointed under this Act, and
includes a special or an additional police officer appointed under section or

(1) 19, 20 @) 21,22 (3) 23, 4 4) 25, 2

97. widE W& quEr Afufraaris S FEaER DEEe s SHar SIRIE Siaa
Tooren sl rens 37 5kl faeg weiid sh<ar ad g ?

(1) e 26 (2) FE 27 (3) Fed 28 (4) w29

According to which section of the Indian Evidence Act, the confession made by any person
whilst he is in the custody of a police officer shall not be proved against him ?

(1} Section 26 (2} Section 27 (3) Section 28 (4) Section 29
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39 Xi1

WRES Eeft O HTET 1872 Wt TETE et sed et ae’! e 2
(a) fafre femmit fafire awq fafre o oo srRa

(b) TR AVER HE T fE wfEd

(c) mEn s fafine e v

uaiEh I

(1) (a) ST (b) Fm (2)  (a) 3 () e

(3) (a) P (4 =i

As per the provisions of Indian Evidence Act 1872, which of the following is “fact” ?
{a) Certain objects are arranged in a certain order in a certain place

{b) A man heard or saw something

{c) A man said certain words

Answer options :

(1) (a) and (5) only (2) (a) and (c) only

(3) (a) only (4) All of the above

99,

RN, Wit S 1951 S0 SEiE NETS TR SAYHat TR FeaTEEs
o geads fan B,
(1) TS000 (2) ¥ 1000 (3) ¥ 10,000 @) Tty T

Under the provisions of Maharashtra Police Act 1951, whoever makes unauthorised use
of police unifarm is punishable with fine which may extend to

(1) T5000 (2) T 1000 (3) 10,000 (4) None of the above

100.

wrorrd g% wfew 1973, FOW 144 SR Feeren oM W e Wigwida
.

(1) 12,24 2 2,6 B) 1,3 @ 36

Any order passed under Section 144 of Criminal Procedure Code 1973 remain in force for

not more than months and if it is necessary then State Government may
extend such period upto months.

(1) 12,24 @ 2,6 () 1,3 @ 3,6

-o00o-
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Il — (7% 1 767 R....)

8) TRy fafke dowm fafire 9Fie = M (TF 9F) F06. THyRadfaiad TRt a1
TR PR F= HH heAH o R FROAOn AN FO A, T8 IS ITEG F WIOR SAGARIER
WA S e ¢ wdiinsl S Tl wiiey o AfafTan-82" Irie TEEeR HRA
FTE 4SO o Sl SAKI! FHI T SN s anfy/ fHear Tud wF 'R T o fdy
T BT

(@) Ty ST fafed weet e AueIR SHEENE B Wi W adat YhsesTEn
VT TG WA TR, WA TRATRATETER FUATgE AT ATIEAT ITU R WI- 1
AN S A foaEr v S0 Aayaw AR

H. &, 201

q. %, 201.

kiR
T = T FLATEE DI T T H 7
(1) = FgHT T (2) dvEEg faaRR
(3) T TR ¥4 @ g e
T I Fa S (3) T T TaT AR . @R W oy s O((3)” e aeea
WIHEIUN ¥99 %, 201 Ol F-FHE (@) ¢ e i e w A @t
HEwIF AE.

ONON MO

I I WEA TG Yow YAl Rl STHTS § geeTel Sk qiadea
TS o W TEEHEETE Faia wgs [0 et wed qraaEl. s
Thad &iedl IRY Seud anE, Ufas ar v i ane T2
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